

Quote

Quote #QT1987065Date10/24/2025Expires12/31/2025Sales RepBessler, Alex GShipping MethodMES Delivery

Customer CLEARWATER FIRE DEPARTMENT (FL)

Customer # C68946

Bill To

Clearwater Fire Rescue 1140 Court St Clearwater FL 33756-5704 United States

Ship To

Clearwater Fire Rescue 1716D Belcher Rd. Clearwater FL 33765 United States

Item	Alt. Item #	Units	Description	QTY	Unit Price	Amount
X8814026305A04			NFPA 1981, 2018 Edition Model:Air-Pak X3 Pro (2018), CGA Harness:Parachute Buckles Pressure:4500 psi Belt:Standard Bag:None Regulator:E-Z Flo C5, Rectus QD EBSS:UEBSS Airline:None Spare Harness:No Console:SEMS II Pro Case:No Case Includes QD C5 regulator	5	\$9,020.00	\$496,100.00
X8814026301A03			Air-Pak X3 Pro SCBA (2018 Edition) with CGA, Parachute Buckles, 4.5, Standard, No Accessory Pouch, E-Z Flo C5 Regulator with Quick Disconnect Hose (Rectus-type fittings), Universal EBSS, None, Yes (with UEBSS Pouch), SEMS II Pro, No Case, 1 SCBA Per Box Includes QD C5 regulator and soft goods kit	5	5 \$10,015.00	\$550,825.00
804722-01			CYL&VLV ASSY,CARB,45MIN,4500 4500 PSI, 45 MINUTE CGA CYLINDER	21	\$1,560.00	\$330,720.00
201650-05			E-Z Flo C5, Quick Connect Hose, Rectus	12	\$2,050.00	\$258,300.00
FP1M40000000000			3M™ Scott™ Vision C5 Facepiece FP1M40000000000, Gen 2, 4-Strap, Kev, Medium	18	\$410.00	\$75,850.00
FP1M40002M00010			3M™ Scott™ Vision C5 Facepiece w/Radio Direct Interface FP1M40002M00010, Gen 2, Motorola®, BCH, 4-Strap, Kev, Medium	7	\$1,665.00	\$124,875.00
CF5V2DDB			Vision C5 Charger (qty 2), Double Mounting Bracket, High-Power Supply (AC)		\$865.00	\$3,460.00
CF5V2SS0			Vision C5 Charger (qty 1), Single Mounting Bracket, Low-Power Supply (AC)		\$460.00	\$3,680.00
201506-01			BATTERY PACK, LITHIUM ION C5	2	\$110.00	\$2,860.00
78-8151-6649-7			3M™ Scott™ Vision C5 Facepiece 78-8151-6649-7, Gen 2, RIT-Pak III and RIT-Pak Fast Attack RIT mask		\$325.00	\$2,600.00
201562-04			PNEUM ASSY, SCOTCHLT, RIT-PAK Upgrades for existing RIT Fast Atack		\$1,105.00	\$8,840.00
201673-04			3M™ Scott™ RIT-Pak EZ-Flo Regulator Assembly C5		\$965.00	\$7,720.00
201567-01			RIT Cylinder/Valve Assy., 30/5500,90 degree RIT Fast Attack Cylinders		\$1,465.00	\$5,860.00
200773-01			RFID WRITER KIT		1 \$775.00	\$775.00





(877) 637-3473

Quote

Quote # Date QT1987065 10/24/2025

Item	Alt. Item #	Units	Description	QTY	Unit Price	Amount
200774-01			R.F.I.D. Tag Kit Pack of 10	20	\$140.00	\$2,800.00
200673-01			ASSEMBLY, WIRELESS BOOT LOADER	1	\$1,320.00	\$1,320.00
201088-03			SEMS II, USB GATEWAY	4	\$2,250.00	\$9,000.00
802837-03			SERVICE TOOL KIT, SPECIAL TOOLS	2	\$837.73	\$1,675.46
Smoked Out Shield			Smoked Out Shield (Please include logo, color (if applicable), and mask manufacturer/type) Scott C5	30	\$60.00	\$1,800.00
Solid Color Shield- Black			Solid Color Shield Black Out Scott C5	30	\$40.00	\$1,200.00
9519-4200			QuantiFit2 Respirator Fit Testing System with Bluetooth® Includes Logic Software, Roller Case, Triple Tube Assembly, USB Cable, Power Supply, Shell for Battery Compartment and Lifetime Powertrain Warranty (Battery and fit test adapters sold separately.)	1	\$10,900.00	\$10,900.00
3010-4023			QuantiFit2 Rechargeable Battery	1	\$450.00	\$450.00
SERPG 9519-4020/5			GOLD SERVICE CONTRACT 5 YEAR Includes calibration & maintenance contract, full warranty through contract, OHD accessory assurance, round trip shipping, 3 day in-house service turnaround	1	\$5,795.00	\$5,795.00
9513-0550F			OHD FIT TEST ADAPTER KIT #55	2	\$385.00	\$770.00
EN91-AA			ENERGIZER INDUSTRIAL ALK AA (sold by each) 4 cases semi-annually for 5 years	5,760	\$0.85	\$4,896.00
Hydrotest for Cylinder			Hydrotest for Cylinder Older cylinders purchased in 2021/2022 For 2026	70	\$65.00	\$4,550.00
Hydrotest for Cylinder			Hydrotest for Cylinder Newer cylinders and olders cylinders For 2031	282	\$65.00	\$18,330.00
Air Sample			Air Sample (RA01) 2 compressors annually for 5 years	40	\$175.00	\$7,000.00
201482-02			FENESTRA,MACH/INSRT,FACEPC C5	5	\$181.64	\$908.20
70-0020-1027-3			3M™ Scott™ Faceseal Assy 70-0020-1027-3, Facepiece, Vision C5 Gen 2, Small	5	\$207.96	\$1,039.80
70-0020-1028-1			3M™ Scott™ Faceseal Assy 70-0020-1028-1, Facepiece, Vision C5 Gen 2, Medium	5	\$191.41	\$957.05
70-0020-1029-9			3M [™] Scott [™] Faceseal Assy 70-0020-1029-9, Facepiece, Vision C5 Gen 2, Large	5	\$209.74	\$1,048.70
78-8151-6291-8			3M [™] Scott [™] Headnet Asm 78-8151-6291-8, Small, 4PT, Kev, Vision C5 Gen2	6	\$224.24	\$1,345.44
78-8151-6292-6			3M [™] Scott [™] Headnet Asm 78-8151-6292-6, Medium, 4PT, Kev, Vision C5 Gen2	12	\$224.24	\$2,690.88
78-8151-6293-4			3M™ Scott™ Headnet Asm 78-8151-6293-4,LG, 4PT,	12	\$224.24	\$2,690.88

Kev, Vision C5 Gen2

BAND ASSY, NECK

VISOR, HUD, E-Z FLO C5

UPPER STRAP, HEAD HARNESS, C5

HOSE ASSY, HUD, QD (RECTUS), C5

COVER ASSY, RED,E-Z FLO C5

804176-03

804178-05

31003922

201660-05

201659-01

\$351.60

\$367.92

\$115.72

\$5,655.24

\$2,134.44

\$29.30

\$30.66

\$28.93

\$471.27

\$177.87

12

12

4

12

12



(877) 637-3473

Quote

Quote # Date QT1987065 10/24/2025

Item	Alt. Item #	Units	Description	QTY	Unit Price	Amount
201655-01			C5, CBRN, DIAPHRAGM & VALVE ASSY	6	\$288.39	\$1,730.34
31003910			LATCH, E-Z FLO C5	12	\$7.70	\$92.40
10005229			SPRING DEMAND VALVE/LATCH	12	\$2.64	\$31.68
31003886			KNOB, PURGE, E-Z FLO C5	24	\$7.44	\$178.56
33481-010			PIN-SPRING .062OD X .688L	6	\$2.73	\$16.38
18070-00			PACKING,PREFORM .07W X.114ID	5	\$6.43	\$32.15
31003890			STEM ASSY, VALVE ,E-Z FOW C5	12	\$10.56	\$126.72
10010667			Scott Safety O-Ring (E-Z Flo Purge Body)	5	\$4.01	\$20.05
10010666			BEARING (EZFLO PURGE BODY)	5	\$4.01	\$20.05
10005368			GASKET	20	\$16.84	\$336.80
201708-01			C5 REGULATOR BODY SUB-ASSY	2	\$432.07	\$864.14
36684-047			RING-RETAINING EXTERNAL HD	5	\$6.43	\$32.15
200923-010			PACKING, PREFORMED	5	\$3.93	\$19.65
10007565			PACKING, PREFORMED	5	\$3.93	\$19.65
57264-00			PACKING, PREFORMED	25	\$3.93	\$98.25
10007563			PACKING, PREFORMED	5	\$3.93	\$19.65
201365-05			KIT,35%TRANSFER VALVE(NXG 4.5)	4	\$55.26	\$221.04
201609-11			SHLDERHARN ASY,X3PRO,PARA 2018	5	\$985.74	\$4,928.70
201180-01			ASSY, CYLINDER RETENTION	5	\$179.87	\$899.35
31003739			STRAP,WAIST-SHLDR,X3 PRO	20	\$103.49	\$2,069.80
201608-02			WAIST BELT ASSY,FEMALE,X3 PRO	10	\$89.43	\$894.30
201608-01			WAIST BELT ASSY, MALE,X3 PRO	10	\$87.43	\$874.30
201649-01			X3 Pro Reg Holder	40	\$41.71	\$1,668.40
201610-11			WAISTPAD ASY,X3PRO,PARA 2018	10	\$712.41	\$7,124.10
201638-01			RETAING STRAP, WAIST PAD, X3 PRO	4	\$50.24	\$200.96
31003732			CLEVIS, SHOULDER HARNESS, X3 PRO	6	\$22.67	\$136.02
201611-02			UEBSS POUCH, X3 PRO	6	\$238.16	\$1,428.96
201160-24			ASSY,SENMOD,PAKTKR,X3 PRO,UPGR *USE PART #7012635232 IN SP*	2	\$2,099.30	\$4,198.60
201367-11			PGM CSTR SVCE KIT,X3,SEMS,4.5	2	\$1,779.20	\$3,558.40
201163-01			ASSY,BATT CAP,SEN MODULE,X3	2	\$72.51	\$145.02
ERGODYNE	5082L		5082L Custom ERGODYNE Firefighter SCBA Mask Bag - Fleece	240	\$30.00	\$7,200.00
Compressor Install			Site survey, install, operate, leak test, train & perform air sample with written report. LOGISTICS STATION 47 STATION 51 (MOVING BAUER COMPRESSOR)	3	\$3,750.00	\$11,250.00
RSC-02036100			Compressor Model: Revolve Air 5 Stage + Pressure: 6000 PSI / 414 BAR + HP: 20 HP + Voltage: 20 HP 208-230 Volt/ 3 Phase/ 60Hz + Controller: CO & Dew Point Monitors w/ Calibration Kit + Language: English + Options: None LOGISTICS: COMPRESSOR	1	\$58,706.00	\$58,706.00



(877) 637-3473

Quote

Quote # Date QT1987065 10/24/2025

Item	Alt. Item #	Units	Description	QTY	Unit Price	Amount
RSF-2322A011			Fill Model: RevolveAir Fill Station + Base: Standard + Fill Panel: Stationary W/ Auto Cascade + Aux Low Pressure: None + Aux High Pressure: None + Cascade Panel: 4 Bank Auto Cascade + Options: SCUBA Adapter & CGA LOGISTICS: FILL STATION		\$24,393.00	\$24,393.00
FH-347-N-50			CGA-347 FILL HOSE, 50' LONG, BLEEDER, VALVE, GAUGE LOGISTICS: HIGH PRESSURE FILL HOSE	,	\$753.00	\$753.00
EZ-T-BHL-3100			PURE FLOW EZ-T SERIES REEL 100' LOGISTICS: HIGH PRESSURE HOSE REEL		\$1,075.65	\$1,075.65
AB16-0907			SCUBA Adapter KIT, 347 TO SCUBA, REVOLVEAIR LOGISTICS: SCUBA BRACKETS/ADAPTERS TO BE INSTALLED ON FILL STATION	;	\$968.00	\$2,904.00
4-4-CTX-S			1/4 inch M NPT X JIC MALE LOGISTICS: HOSE ADAPTER		\$5.00	\$5.00
YVA-3010			VALVE LINE LOGISTICS: IN-LINE SHUT OFF		\$68.00	\$68.00
3/8x1/4-PTR-S			Adapter, 3/8" NPT male x 1/4" NPT female LOGISTICS: HOSE ADAPTER		\$5.00	\$5.00
RSC-02036100			Compressor Model: Revolve Air 5 Stage + Pressure: 6000 PSI / 414 BAR + HP: 20 HP + Voltage: 20 HP 208-230 Volt/ 3 Phase/ 60Hz + Controller: CO & Dew Point Monitors w/ Calibration Kit + Language: English + Options: None STA 47: COMPRESSOR		\$58,706.00	\$58,706.00
FH-347-N-25			Deluxe fill hose. 25' long, with shutoff valve, 6000 PSI gauge w/rubber boot, bleeder valve and hand tight nut and nipple that will fill either 2216, 4500, 5500 SCBA cylinders. Inlet end has ¼" npt male. For use on systems to 5500 PSI STA 47: HIGH PRESSURE FILL HOSE		\$532.00	\$532.00
6506-4-4			1/4 inch F NPT X No.4 JIC SWIVAL STA 47: HIGH PRESSURE HOSE ADAPTER		\$9.50	\$9.50
8HP586C 6000			UN 6000 cylinder with CGA 702-25SE Valve installed Color Color Gray 2164 Revolve Air Systems Custom Collar Ring with Fittings kit STA 51: STORAGE CYLINDERS	4	\$2,589.00	\$10,356.00
RSS-06C44100U			Cylinder Size: 6000 PSI + Rack: Verticle Stand Alone 4 + Plumbing: 4 Cylinders + Hose Qty: Four + Hose Length: 10 Feet STA 51: CYLINDER STORAGE RACK 2 X 2	,	\$3,510.00	\$3,510.00
FH-347-N-25			Deluxe fill hose. 25' long, with shutoff valve, 6000 PSI gauge w/rubber boot, bleeder valve and hand tight nut and nipple that will fill either 2216, 4500, 5500 SCBA cylinders. Inlet end has ¼" npt male. For use on systems to 5500 PSI	,	\$532.00	\$532.00

PSI

STA 51: HIGH PRESSURE FILL HOSE

STA 51: HIGH PRESSURE HOSE ADAPTER

1/4 inch F NPT X No.4 JIC SWIVAL

6506-4-4

\$9.50

\$9.50



Quote

Quote #

Date

QT1987065 10/24/2025

Item	Alt. Item #	Units	Description	QTY	Unit Price	Amount
AB16-0916			SCUBA Adapter Hose, 347 TO SCUBA (2) STA 47 (2) STA 51	4	\$420.00	\$1,680.00
AB16-0942			DIN Adapter Hose, 347 TO DIN (1) STA 47 (1) STA 51	2	\$506.00	\$1,012.00

PRICING PER LAKE COUNTY CONTRACT 22-730G

Contact: C68946 CLEARWATER FIRE DEPARTMENT (FL): Jason Slanina (727)

324-2442

(877) 637-3473

Subtotal \$2,176,950.55 **Shipping Cost** \$4,500.00 **Tax Total** \$0.00

> Total \$2,181,450.55

This Quotation is subject to any applicable sales tax and shipping and handling charges that may apply. Tax and shipping charges are considered estimated and will be recalculated at the time of shipment to ensure they take into account the most current information.

All returns must be processed within 30 days of receipt and require a return authorization number and are subject to a restocking fee.

Custom orders are not returnable. Effective tax rate will be applicable at the time of invoice.